Sada diagrami €. 15a - zadani 2. 2. 2017 / Kontrola 9. 2. 2017
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1) Bily na tahu dd mat 1. tahem (1115)
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3) Cerny na tahu dd mat 1. tahem (1117)
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5)  Bily na tahu dd mat 1. tahem (1119)
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2) Bily na tahu dd mat 1. tahem (1116)
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4)  Cerny na tahu dd mat 1. tahem (1118)
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6) Bily na tahu dd mat 1. tahem (1120)



B W ¢oax
A 44 3
o A
. 3 W
o & £

. &%)

B A Agrd
J=4 EL

a b e d e f§f g h

7)  Bily na tahu dd mat 1. tahem (1121)
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8) Bily na tahu dd mat 1. tahem (1122)

Bonusové diagramy
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9) Bily na tahu dd mat 2. tahem (362)
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10) Bily na tahu dd mat 2. tahem (364)



